Homework Jan. 13-17  Graphing Using a Point and the Slope

1) (1, 2) m = ½  
   2) (3,- 2) m = 
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        3) (-3, 4) m = 0

[image: image1.wmf]3

2

-

[image: image2.jpg]I X2





  4) (0, -2) m =4
     5) (-1, 2) no slope
           6) (-4, 1) m = -1
                                                             undefined
7) (1,- 3) m = -½  
   8) (-3,- 2) m = 
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        9) (-1,- 4) m = 0


 Directions :  Plot the given point.  Use the slope to draw the line.
 10) (0, 2) m = 2
     11) (-2, -4) no slope/und
     12) (-2, 3) m = 3

13) (-1, 4) m = ½  
   14) (3, -2) m = 
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        15) (-3, -1) m = 0


16) (-1, -1) m = ½  
   17) (-3, -2) m = 
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